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23. 62 wod 3O Do

B8 ADS Hdo grarerres® B8 BodSE Kgokod.
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. Fillin the blank with right preposition.

. (English)

7"0ursichoo_l starts’ L 9am.
Ay a - (@ in

@) before @ o
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27

‘Usetheri ght punctuation mark.

Kiran plays cricket everyday

('1) 2 (Question mark)

_;(2)' '.(_Fulll‘stop)
() ,(Comma)

(4) !(Exclamation)

28.

Fill in the blank with the right word.

I brush my in the morning.
(1) tooth , . (2) teeth
(3) tooths '  (4) teeths -

29. ' What is the contracted form of has not'?
o (. haven’t : o | '(2) hasn’t
3) hast (4 hadot
V24-75 E 8.A ' 5t Class (E/T)
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30. Whatis the part of speech of ‘volunteer’?
(1) preposition -  (2) noun
(3) adjective - ' (4) pronoun.
.3-1. Choose a suitable question word. .
are you late?
(1) Why . (2) Which
3) Who (4 What
32. Change the underlined word / words with suitable pronoun.
~ Rajuand Ravi are friends. o
(1) He (2) ‘She
(3) They | @ I
33. Whatis the opposite of ‘fresh’?
(1)' mess - | (2)" stale
(3) weak |  (4) unfresh
34. Choose the right article to-fill the blank.
: .' There is ____queue at the counter.
(1) ‘a S o) B ™
(3) the’ " (4) 'noarticle”
V24-75] - 9.a 5% Class (E/T)
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.Fill in the blank with Past Continuous tense.

Razia_ - _ .(dahce),when the Headmaster entered the class.

(1) isdancing S+ . (2) danced

(3) were dancing o .+ (4) wasdancing
36. ‘Make a meaningful word from the letters - ‘edaelr’

(1) ealder - (@ acerd

(3) eearld - o (4.).: leader
37.

Pick out a word related to ‘class room’. -

(1) bench S . () kiife

(3) spoon o (@) sofa

' Q No 38 to 40 : Read the passage and answer the followmg questmns..

Once upon a time a farmer bought a wcll from his nelghbour to supply water to his fields.

The cunning neighbour sold the well and said, “I sold you only the well and not the water”.

water from the well”. The neighbour felt ashamed and left.

, The.diSappoipted farmer went to Birbal for justice. Birbal understood the neighbour’s
plan. He thought to teach a lesson to the neighbour. Hé said, “Young man, since you sold the well
to the farmer, you have no right to keep the water in the well. You pay the rent or draw all the. -

38. What did the neighbour sell the farmer?
(1) fields - : (2) well
(3) farm . (4) hishouse
5t Class (E/T).
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39. Who taught a lesson to the neighb.our?
(1) Farmer |
(2) Theking
(3) Birbal
(4) People

Quesfion Paper A
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40. Whatdid Birbal tell the neighbour?
(1) to sell the water.
. (2) to take back the well.

(3) tobuyanew well.

(4) to draw all the water from the well.

V24-75
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(Mathématics)

42

- 43,

(§B80)
“Ninet}; two thousand and eighty five” in 'numérals.
‘FoB Boc&) 3o AP 0’ @o@o@‘ ‘ .
e} 9285 () 92085
. (3). 9200085 - . (4) 9020805
5%1000+3x100+4 x 1= | -
() 5034 3 () 50034
(3). 5340 (@) 5304
How many 4-digit numbers can be fofmed by the digits 2,4,8,1 without repetition?
‘2 4, 8 1 o3 @Jo@e:é‘ a:ql 4- @030 Sopgen éoﬁrdo zioaa;saa'):s;v (@ @03263 884
. FERor) : i
(1) 256 (@) 120
(3) 24 | | (4) 12
44. How many thousands are there in 790007 -
79000 c$o0esr IRy Jen trolron?
(1) 97 @) 70
(3) 7 | 4) 79
45."- What is the before number of 90007

900050 Jrdg (Soo0c) Dopg AB?

(1) 8999 - (2) 8000

(3} 9001 : (4) 8099

V24-75 . 12-A . St(Class (E/T):
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47 + 584 + 416 + 953 =

46, |
(1) 1100 @) 2000
(3) 1996 . (4) 2100
47 The digit which makes the addition correct, is
§r¥ (So¥eno) dHodgss $OGHIBMT Fh wos
4 709 | '
+ 218 7
7 4 5 6
(1) "7 E ' (2) 3
3y 6 - 4) 5 - .
48. Sameera bought a saree for ¥ 7,500 and sold itto Sanvika for? 5,850. What is the proﬁt or
loss got by Sameera. ‘ : :
(1) Profit =% 2150 . _ (2) Loss=% 1650
(3) Profit = ¥ 1650 . (4) Loss=% 2150
JY w8 DS T 7,500 K &1, -awaogés’\n % 5,850 %0 @30). 35568 DS ereo aﬁw
920 Jo&? .
(1) ogfo=22150 . - ‘(2) S50 =T 1650
(3) w0 =% 1650 . » (4) 3H0=% 2150
49. Which of the following is not the mﬁltiple of 9?

B0d TIS* 9 Do), HosBao TA D&?
(1) 216 (2) 396

(3) 666 | - 4) 193

V24-75 13-4 5* Class (E/T)
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Write the short form for the given date.
215t February 1977.

BTG 865 %083 SrHost oro3a50.
21 D256 1977

ay 2n1277 @) 02.1977.21

@) 21021977 4) 21.1977

51

IfyouhaveX 1500 and you want to convert them maximum number of T 200 rupee notes,
then how many ¥ 200 rupee notes you will get along w1th one ¥ 100 rupee note.

5 55 TLS00 drdraben 0. & dsuye b Doansy DS 1200 Sy SHer |
Smomoisstorn. @08 8% a8 T 100 Sos® S Y T 200 Sy 33007

w 7 - @) 8
[6) IR C &) 14

-52.

Sathwik is 11 years old His father is 34 years older than Sathw1k Then how old is his

~ father?

;EE Sy 11 BoSdTen, wdd dod Ha%BY @@55 :6050:00(3 éajl 34 Jodyoren
80 $ Bond @é&) ol $c%08) dod?

(1) 43 (2) 23
(3) 35 ‘ (4) 45

53.

Convert 1 hour 10 minutes 12 seconds into seconds.

(1) 11012 seconds (2) 4212 seconds
(3) 1820 seconds ‘ (4) 3672 seconds
1 Kod> 10 Ao 12 DESM, ¥ Sredyod.

(1) 11012 P88 C(2) 4212 ES

(3) 1820 & : (4) 3672088y

V24-75 | 14-A | 5t Class (E/T)
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54.

991350ml.~161.600ml.= ______

(1) 721250 mil. | O (2) 721750 ml.
(3) 731 750 ml. | (4) 821750 ml.
99 &. 350 20.9. - 16 &. 600 2.9, =

Question Paper
Booklet Code

(1) 72 8. 250 2.9, . (2) 728.750 2.8.

(3) 73 8.750 20.8. W) 2675020,

35.

Convert into kg and grams “8050 grams”

(1) 8kg50 grams

(2) 80kg50 grams

3 8 kg 500 grams

(4) 80kg 500 grams _

“8050 (rioen™o SN PR, FENOS IS Srd)ob.

(1) 8a&pr. 50 rswen

(2) 80 &g, 50 rsoes
(3) 8 &.r. 500 msoe
(4) 80 &4, 500 rSoen

56,

Fill in the blank.

8m9%cem=_  cm.

950 GBS0,

8an. 90 oo = - o

(1) 8900 | | (2) 890
(3) 809% ' (4) 8190

V24-75 15-A

. 5% Class (E/T)




'~ 57. Which of the following is the greatest fraction?
808 DIOS® YD DYB 287 -

. Qﬁestion Papér A :

-Booklet Code

144 2115 2
.27°27°27°277°27
oyl » 2
Y @) 27
gy BB o 2L
) 5 @ 5
10100
O 7o @ 3
o £ o 2
) T AT

59. What is the fraction which represent the shaded p:or-tion?ﬁ

%86 BoHads @roamd) SrdHowd '!.)36;10 De?

W = @ =
W 5 @ 13
'3 i 4 .!_
® T O
V2475 6oA

5™ Class (E/T) .
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The denominator in the given fraction % is

% ©3 %o Sodd fﬁdo

(1) 13 (2). 9
®) 4 @ 22
61. What is the perimeter of the given figure? | 2 cm 2 em
(1) 24cm ® €
- . g G
(2) 25cm . 5cm| ® 5cm
, _ 3 cm
- (3) 30cm
(4) 34 cm | | 7 em
A S0 B, HotnFod Jod?
® 2000, 200
(1) 24 200.0. w A .
: 2 S
(2) 250w, . 530w, y 6 5205
' - : : 3 200,80, '
(3) 30 »o.. -
4) 3430.. . 7ok,
62. From the ﬁgure what is the line segment drawn from the centre of the 01rcle to a point on

the circle, called?

(1) Circumference - {2) Diameter

(3) Edge - | (4) Radius

H&0e*. Syddoso o0& Bygo D el i)o:;Soa’p)s‘o AosowdS
Bgrpom) DB0ErS?

(1) g ves - | . : (2) Fgido
3) sow @) oo

[V24-75 17-A 5% Class (E/T)
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63. F1nd the area of the shaded region, if each ] represent 1 square cent1metre
(I) 20 square centimetres

@
®)

15 square centimetres

5 .
-l—“g square centlmetres

(4) 5 square centlrnetres

T e | R

(1) 20 $655% o8 ibéocfg

@

(3)

15 $656:3 Tod doto
. |

(4) 5 365% Dol Dotady

= 9663 08 Doy

/]

64. Which of the following is not the net form of closed empty chalk box?
SorcondS g Sogdng, DB R, Sobrdsn 08 YA

) @
(3) 4)
V24-75 ETV 5t Class (E/T)
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~ 66.

'65. Inwhich of the following all its sides are equal?
(1) Square ' (2) Rectangle
(3) Triangle (4) Circle
808 IS* BB, T B, V) whered SSrHom odron?
(1) SdHo (2) Bgusspo
(3) @abzo (4) o
168 +8+5x12-38=
(1) 41 | (2) 43
(3) 62 4) 123
67. Remainder in 5683 =+ 100 is
5683 + 100 Sock F:ho _
(1 3. (2) 83
(3) 56 4) 8
68. Ifthe cost of each pen is ¥ 6, then how many pens can we get for ¥ 8647 |
28 Do) P66 T 6 wond, T 864 K0 A VYo FSKOBM?
(1) 144 (2) 81
(3) 108 (4) 124
69. Which of the following is correct?
80D FIS* JBFEE IB?
(1) 360+1=360 (2) 0+365=365
- (3) 1x365=1 (4) 365x0=365
70. 8137, 7246, 6355, 5464, .
(1) 4174 (2)- 4558
- (3) 4567 (4) 4573
V24-75 19-A

5% Class (E/T)
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| '-(Ehvirdnmental Scieh_(:e)

(Bovoe Degdin)

73.

71. clalmed that cleanliness is next to Godliness.
(1) Dr.APJ. AbdulKalam' | - ) MotherTeresa
(3) MahatmaGandIu o (4) Narendra Modi
HoHFES aés‘dgo 50&36&) aﬁ‘gyc‘éala"da , |
(1) @1 3. @a:ge‘j- gm_ () %66 Bedy
@) seyrod . (#) Stogwh,
7. Peopléwhowquin ﬁttingWatér pipes and taps are called as
(1) Porter . (2) -Plumber
(3) Electrician - B C)) Sanitation.Wdrker
- A8 pHew, Herone JEHE B & 60 & Dot 3)65@63: .
1 &#gs @) gows
3) dogaces . 4) by soyow
Such mode of transportation can be seen in Araku Valley.

(1) Transportin plain area - (2) | Transport in Forest

(3). Transport in desert (4) Transport in hilly area

.;@d& eS‘oSae‘S‘ :szebo;’ioéﬁ Saree ag@&) mésﬁ%
(1) 28 Fosos® S 2) osHost ST

(3) ITHOSt S . (4) Fod @roses® saer

v24-75] - 20-A . 50Class (B/T)
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74. PIN stands for ‘
(1) Postal Ir.ld‘ex Number
(2) Postal Interior Number
(3) Perfect Identiﬂcation Number
(4) Perfect Instrumental Number

PIN e0&m .

(1) 23S 0B dowg

(2) &PS wodds Sopg

(3) PSS K7Dy dogg . .

4) mﬂa’é@_c‘é o0y Bowg

75. Find the odd one out among the following.

(1) Diwali o ~ (2) RepublicDay
(3j Ramzan - -(4) Christmas
 Bod TIS* DHS D :‘ﬁgo:ﬁoé. o .
(1) s>z (2) - Kedod BIES0 o
3) GowS () @55 |

76. This fort is considered by the local peép'le as the main gateway to South Kasi.
(1) ChandragiriFort (2) Kondapalli Fort
(3) SiddavatamFort . (4) GandiKota
& S $8eo 5788 @5‘:6 cs‘ogdorv-éébc”& @aae;ﬁ T AT,
(1) Sosas & | 2) Soudd &
(3) aag:,sé.ao SO (4) #Kod 5

V2475 1A 5t Class (E/T)



77. Idéhtify the wrongly matched péir.
(.1) Kolieru lake - West Godawari District
-(2) Corihga-Kakiﬂada District
' (3) Motupalli Port.- Prakasam District
-(4) Telineelapuram - Srikakulam District
Sy WEHEDF D Kogotsod.
(1) 586 6% - Say TS0 2e
(2) Sooft - wETE Ber
(3)_ BUGNSTY Q‘c@) - W5 o Ber

(4) BOJoRBo-- FEHEO ve

Question Péper ' A
Booklet Code

78. A body of water that forms the Southern boundary ofIndia.

(1) BayofBengal (2) Arabian Sea
(3) AtlanticOcean’ ~ (4) ‘Indian Ocean
ESTTIE 80 HOTRM Ho woarto -
(1) worerdo | | (2) «BDsr dS0Eo

(3) w&roE HHBsHBIGO

(4)

SrodT SoBtHSNE0

79. India : New Delhi : : Karnataka :
(1) Chennai '
(3) Kohima
e.rdéc':'i%}.’m : Srghd 11 Soplol
1) 83
3) &rdr

()

@

(2)
(4)

Bengaluru

Panaji

V24-75| 22-A

5th Class (E/T)
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80. Identify the missing point in the following régarding the geographical structure of the’
Home Village > District
- (1) Town - () City .
(3) Mandal . (4) State
G Bng, THE JoyrdE H0w0B0D 8ol HEIES TES S*HoDS woTd)
8owsod,
Qe oo —3 : Qe
(1) Segeo - Q). sido
() Sodewo | 4) ogo
81. This place has both an Airport and Port. ‘
(1) Visakhapatnam o (2) Rajahmundry
(3) Renigunta - (4) Gannavaram
DSrTFoRo Dbokn Fesoo Do EOAS HBFo
(1) drpdhmo 2) casod
(3) dediiooda. . | (4) #5560
- 82.

A message sent from one computer to another is called

(1) E-path ' (2) E-RAM

" (3) E-Machine | (4) E-mail
28 ofrghald Hood $b% §of.g)‘§é35§\) Ho@ D8R JIBrardols & Do DL,
1) $->8 - Q) G-o5 |
(3) ®-chogo 4) &-Joond

[V24-75  3A | 5t Class (E/T)
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83 The State that shares a border w1th Andhra Pradesh towards the South

(1) Karnataka } ~ (2) TamilNadu °

(3) Telangana ' . o (4) Od1sha |

@o@@é%@* $8e BIMT, coamcsgaéa oao{n&ﬁ Tgo

(1) somes L . 2) St

(3) ‘@&)o‘rt‘sa‘ o 7 | o) a_;c%s"_ i

84. The World famous Statue ofLepakshi'Nandi'i's 1ocated.i_t1 this District.
W Sri Satyasai District o ‘ (2) Anantapur District .
(3) ' Tirupathi District o / - ) Ku'rﬁodl District
Dol 3 eagmoi‘):é éﬁé‘ng :60& :)[fioro & a?.ere?‘ Soacsd.! .
| 1) @@ég@oco 2e ' , () eaééoéog)cio 2:‘3@31
(3) B8 e | @) e o

85. Whlch is not the cause of water pollutlon in Tanks (or) River c:anals‘?
1) Takmgbathw1thsoaps '
(2) Washing cattle
(3) Removing Eichhornia plants
(4) Releasing factory effluents - | _
| .' Do (Bwr) 36 s‘m;’we‘i‘ D& Seohdo 538 w0 B Q67
(1) Haps® @3&")0 Wosnd
(2) sHIos sdmde.
(3;)' m@@agz, 3)3§2,e3263 ofothHé
(4) ddES Sgods Sdoeod

V24-75 | C 4eA 5t Class (E/T)
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86. Which method is used to preserve pickles for long time?

(1) Store in refrigerators (2) Dryirig
(3) Store in jars . (4) Addingoil and salt
SEHGT IS Foo dodakobls D BEED GHRALARE:?
(1) opeadugs* deosdaios (2) DodBens
3) whos® dog Do (4) &3 $0c @By Seod

87. Blind people can read Braille script through

(1) - Senseofsound (2) Sense of smell

(3) Schse of touch _ : (4) Sense of sight”

800 Bond OV oo WeESSKerhar.

(1) 288 =0 ' (2) TH5% Howosods ado
(3) &y aso | ) G gdo

88. 'Which is not an example for nocturrial animal?

(1) Rodent - : - (2) . Bat
(3) Owl (4) - Sparrow
IS £IS BOTC 508 DB?
(1) e | @) #8yeo
3) togira @) Buyd
89. Whilereading, we need to maintain mir;imum distance between eyes and book.
(1).30cm - @) 50cm | |
(3) 20cm . (4) 6 feet
S0 HJgo U6 coa’)aoﬁooé“ Eo¢38 B850 YIFRS ;’33(.53 §§)ao : 8?50
GoRor Wrdtad.
(1) 30 o.5. ) 50 %005,
3) 20 Do.5. T (4) 6wk

V24-75 . : ' 25-A 5% Class (E/T) |



90. Camel grass ‘rodts are used as
() Insect repellents
" (3) Cooling mats |
| s83s5 Bom SHETAT®.
(1) duses 6 soge

@)

(4)

()

Questio‘n Paper
Booklet Code |

'_Fragi*ant oils
Making dyes

BoTHS Boroom

(3). Sydso aily SrgSomr (4) Sothe SSrdes’
91. Match the following.
i). Herbivores a) Eatmeatofanimals |
- ii)  Carnivores b) give birth to babies
iii) Oviparous c¢) Eatplants.
iv) Viviparous’ ~d)  lay eggs
Bod B uEHEBB. |
A ‘B .
i TES O a) wodYL Srododo 83
i) Srodrbie b Doos §39
iii) BoG EEE 0 - ¢)- m'gbo$o 83D
V) aensses A oy BB
(1) i-b, ii-c, iii-d, iv-a (2) i-é, ii-d, iii-b, Iiv-c
- (3) i-d, ii-a, iii-b, iv-c (4) i-c, ii-a, iii~d, iv-b
92. Identiﬁ( the plant that grow on mountains.
| (1) Cactus (2) Banyan
(3) Pine , (4) Hydrilla
38 (osros® DEH Zng o HJowod. |
(1) @ Bdsadk ' (2) S8
(3) S @) o
V24-75 26-A -
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93. Plants do not use this for photo synthesis.

(1) Sunlight : (2) Oxygen
(3) Carbondioxide (4) Water
S eo 8naly HoRrK §oHS® A GHDBEALD.
(1) srogsod - 2) w§=s
3) S6S 3 63s @ b

94. Which bird make its nest, by stitching leaves together?

(1) Spider : . (2) WeaverBird
(3) TailorBird : ' -(4) Eagle
D 58 85 firdoo, wHos 50D K& DBYWE0E00E?
(1) 8BHdHK - (2) Ammd
3) BoSof " NONE

95. The process of changing of water into water vapour is called

(1) Precipitation - . (2) Evaporation

(3) Condensation | (4) Solidification-
D, S &IB S0 Hi8asoo ' @o&d).

(1) S¢50 ‘ () wrelysssen
3) @SS @) $obusssn

96. Identify the step, where microbes are killed in the rural safe drinking water scheme.

(1) Collection of water : (2) Filtration

(3) Chlorination - ' , (4) Sedimentation of water -
rdos HH000E STHo HSo B WSS® HBSD SrgEHess TEso B

(1) 98 s - | 2) S | |

(3) go33S (4) 568 By

V24-75 A 5t Class (E/T)
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97, Identify the X’ in the given diagram.

" (1) Sepal . o
@) Petal
(3) - Stamen

@ Pistil |

| .'3!‘3553.3&5 DE0S™ ‘X’ &9 f‘b_Qof.Soél.
ORCEEC

- (2) u888 Jgo

(3) %0

(4) wodsi¥o

98. A family with a mother and her children s
) Nuclear family ’ ‘
(2) Childless family
| (3) Joint family .
(4) Single parent family - .
| K1) 508080, 6T Deen .‘,S:“@ﬁo &od Stnoerd) Dootrd? -
(1). 13)264 Bodwoeo |
' (Zj ﬁagwé&)&:@omo | |
(3) w3ud SHevowo

(4) 2% HoB¥e Kotnowo

V24-75 : 8.4 5th Class (E/T)
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99.. Which is not the habit of personal hygiene?
(1) Playing garﬁes '
(2) Haveabath daily
(3) Brushteeth twice ina day
(4) Wash hands before and after eafing
$3878 HODESE BodK TR oty J6?
(1) e SEESE0
2) e 6‘23“ S0 3.063650'
(3) domro Bwrd® Bods &8 Do Vs Sdo

(4) o5¢o 83 Swoh, Sobas» 8F) STd Vo HPIHESE0

-100. Dried Neem leaves are used to preserve

(1) Foodgrains - . o (2) Milk
(3) Pickles (4) - Vegetables
J0BS B wHheo 5 degBoinoid eHEmAR.
(1) &3 grage . - (2) e | |
3) Sy T @) Sedmoben

' 0ooog

[V24-75 oA 5t Class (E/T)
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